Multiply and Divide by 10 (B)

Find each product or quotient.

1x10= 13+10=
61 x 10 = 82 x10 =
67 X 10 = 47 x 10 =
27 +10 = 27 -10 =
49 - 10 = 66 -10 =
62+ 10 = 50 X 10 =
29 +10 = 50 X 10 =
67 =10 = 11+=-10=
53+10= 67 =10 =
28 +10 = 88 +10 =
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Multiply and Divide by 10 (B) Answers

1x10=10

61 x 10 =610

67 X 10 =670

27 +-10=2.7

49 +-10=49

62 +10=6.2

29 +-10=29

67 +~10=6.7

53+10=25.3

28+10=2.8

Find each product or quotient.

13+10=1.3

82 x 10 =820

47 x 10 =470

27 +-10=2.7

66 +10=06.6

50 x 10 =500

50 x 10 =500

11+-10=11

67 +-10=6.7

88 ~10=28.8
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